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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 
ªT ˆTˆ›Ã^ Yy ( 3rd Paper : Statistical Technique ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) Y“ÁU◊]Eı a…‰y C ÂGÏS a…‰y aeG c˜›Tˆ Y◊Ã[˝aeFÓÁ„XÃ[˝ 

]„W˝Ó YÁUÔEıÓ Â[˝ÁMıÁX* [˝ w¯◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó Y◊Ã[˝aeFÓÁX 

Eı›\ˆÁ„[˝ =YÿöˆÁ◊YTˆ c˜Ã^ ? 10 + 10 

 (F) (i) \…ˆ◊Ã^úˆEı EıÁ„Eı [˝„_ ? AEı◊ªRÙO =VÁc˜Ã[˝S ◊VX 

Â^FÁ„X \…ˆ◊Ã^úˆEı ]W˝ÓGÁ◊]TˆÁÃ[˝ ^UÁ^U 

Y◊Ã[˝]ÁYEı* 

  (ii) Y“]ÁS EıÃ[˝”X Â^ Y“]ÁS ◊[˝ªJ…ÙÓ◊Tˆ ]…_◊[˝≥V« 

◊XÃ[˝„Yl˘ ◊Eı‹ô«ˆ ]ÁyÁ ◊XÃ[˝„Yl˘ XÃ^* 10 + 10 

 (G) (i) V«◊ªRÙO ◊[˝„l˘YS ◊ªJÙy %·¯X EıÃ[˝”X Â^FÁ„X ac˜G◊Tˆ 

mSÁ„·¯Ã[˝ ]ÁX 0 A[˝e –1. 

  (ii) ]ÁXy‘] ac˜G◊Tˆ mSÁ·¯ Eı› ?  

  (iii) Y“]ÁS EıÃ[˝”X Â^ ◊&Ã^ÁÃ[˝]ÓÁ„XÃ[˝ ]ÁXy‘] 

ac˜G◊Tˆ mSÁ„·¯Ã[˝ ]ÁX –1 A[˝e 1 AÃ[˝ ]„W˝Ó 

UÁ„Eı ( )11 ≤≤− Rr . 6 + 4 + 10 

 (H) a+…SÔ a]›l˘Á A[˝e X]«XÁ a]›l˘ÁÃ[˝ T«ˆ_XÁ]…_Eı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* aïˆÁ[˝XÁ`“Ã^› X]«XÁ aeG–„c˜Ã[˝ V«◊ªRÙO 

Yà˘◊Tˆ ae„l˘„Y ◊[˝[˝ Tˆ EıÃ[˝”X* 10 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) =VÁc˜Ã[˝Sac˜ a]aïˆ[˝ C YÃ[˝&Ã[˝ [˝L¤XEıÁÃ[˝› HªRÙOXÁÃ[˝ 

◊[˝[˝Ã[˝S ◊VX* Y◊Ã[˝Y…SÔ m¨K˜ GPˆXEıÁÃ[˝› HªRÙOXÁ [˝_„Tˆ Eı› 

Â[˝ÁMıÁÃ^ ? 8 + 4  

(F) aïˆÁ[˝XÁ`“Ã^› ªJÙ_ EıÁ„Eı [˝„_ ? aïˆÁ[˝XÁ \ˆÃ[˝ %„Yl˘Eı 

A[˝e aïˆÁ[˝XÁ HX±ºˆ %„Yl˘„EıÃ[˝ È[˝◊`rÙÓm◊_ =‰{F 

EıÃ[˝”X* 4 + 8 

(G) A A[˝e B V«◊ªRÙO HªRÙOXÁ c˜„_ ÂVFÁX Â^ 

(i) )()()()()( BPAPBAPAPBAP +≤∪≤≤∩  

(ii) 1)()()( −+=∩ BPAPBAP  6 + 6  
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(H) (i) x A[˝e y-AÃ[˝ ac˜G◊Tˆ mSÁ·¯ 0·8 c˜„_, 

25 += xu  A[˝e 43 −= yv  AÃ[˝ ac˜G◊Tˆ 

mSÁ·¯ EıTˆ c˜„[˝ ? 

 (ii) V«◊ªRÙO ◊X\ˆ¤Ã[˝S ÂÃ[˝FÁÃ[˝ a]›EıÃ[˝S 523 =+ yx  

A[˝e 85 =+ yx  c˜„_ xyr  AÃ[˝ ]ÁX EıTˆ ?ı 

   6 + 6 

(I¯) _ÁaÀ„YÃ^ÁÃ[˝ C YÁ„`Ã[˝ VÁ] a…ªJÙEı a…y ◊[˝[˝ Tˆ EıÃ[˝”X* 

EıÁ_ ◊[˝[˝Tˆ¤X› A[˝e =YÁVÁX ◊[˝[˝Tˆ¤X› ◊[˝ªJÙÁ„Ã[˝Ã[˝ ◊\ˆ◊w¯„Tˆ 

a…ym◊_Ã[˝ aÁ]taÓ YÃ[˝›l˘Á EıÃ[˝”X* 6 + 6 

(ªªJÙ˜) ◊•YV ◊X„[˝`„XÃ[˝ `Tˆ¤m◊_ =‰{F EıÃ[˝”X* Ac˜O 

◊X„[˝`„XÃ[˝ Â\ˆV]ÁX ◊XSÔÃ^ EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ]W˝ÓGÁ◊]TˆÁÃ[˝ Y◊Ã[˝]ÁY ◊c˜„a„[˝ m„SÁw¯Ã[˝ GQÕˆ, Y“◊Tˆ- 

GÁ◊S◊TˆEı GQÕˆ A[˝e ]W˝Ó]Á [˝Ó[˝c˜Á„Ã[˝Ã[˝ AEı◊ªRÙO Eı„Ã[˝ 

=VÁc˜Ã[˝S ◊VX* 2 + 2 + 2 

(F) a«`Á◊aTˆ G◊TˆW˝ÁÃ[˝ÁÃ[˝ Y◊Ã[˝]Á„Y GÁ◊S◊TˆEı ÂÃ[˝FÁ 

◊XÃ[˝÷Y„SÃ[˝ _◊HrÙ [˝GÔa]◊rÙ Yà˘◊Tˆ [˝SÔXÁ EıÃ[˝”X*   

(G) ◊X‰∂oˆ Y“Vw¯ EıÁ_›X aÁ◊Ã[˝Ã[˝ LXÓ @L«ÍÃ[˝◊FEı G◊TˆW˝ÁÃ[˝Á 

a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X : 

[˝bÔ 1980 1981 1982 1983 1984 

=dYÁVX 

(’000 ªRÙOX) 
75 83 109 129 134 

 (H) x-AÃ[˝ V«◊ªRÙO ]ÁX 0 C 1 A[˝e %Á„Y◊l˘Eı Y◊Ã[˝aeFÓÁ 

^UÁy‘„] 
3
1  C 

3
2  c˜„_ x-AÃ[˝ GÁ◊S◊TˆEı GQÕˆ A[˝e 

Y“]ÁS ◊[˝ªJ«ÙÓ◊Tˆ ◊XSÔÃ^ EıÃ[˝”X* 

(I¯) V«◊ªRÙO W˝XÁ±¡Eı Ã[˝Á◊`Ã[˝ GÁ◊S◊TˆEı A[˝e m„SÁw¯Ã[˝ GQÕˆ 

^UÁy‘„] 25 A[˝e 15 c˜„_ TˆÁ„VÃ[˝ Y“◊TˆGÁ◊S◊TˆEı GQÕˆ 

◊XSÔÃ^ EıÃ[˝”X*  

(ªJÙ) Y“]ÁS EıÃ[˝”X Â^ 
2
1=p  c˜„_ GQÕˆ ]Á„XÃ[˝ =\ˆÃ^ ◊V„Eı 

◊•YV ◊X„[˝`X Y“◊Tˆa] c˜„[˝*  

(ªK˜) Y“Eıî ◊[˝ªJÙÁ„Ã[˝Ã[˝ Âl˘‰y Y“U] Y“EıÁÃ[˝ }Á◊‹ôˆ A[˝e ◊•Tˆ›Ã^ 

Y“EıÁÃ[˝ }Á◊‹ôˆÃ[˝ W˝ÁÃ[˝SÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(L) ◊[˝◊\ˆ~ Y“EıÁÃ[˝ ÿôˆïˆ◊ªJÙ‰yÃ[˝ ae◊l˘ä ◊[˝[˝Ã[˝S ◊VX* 
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1. Answer any two questions : 20 × 2 = 40 

(a) Distinguish between Primary data and 

Secondary data. How are data represented 

by Pie diagram ? 10 + 10 

(b) (i) What is mode ? Give example of a case 

where mode is an appropriate measure 

of central tendency. 

 (ii) Prove that standard deviation is 

independent of changes of origin but 

not independent of changes of scale. 

   10 + 10 

(c) (i) Draw two scatter diagrams where the 

coefficients of correlation are 0 and –1. 

 (ii) What is rank correlation coefficient ? 

 (iii) Show that Spearman's rank   

correlation coefficient lies between         

–1 and 1 ( )11 ≤≤− Rr . 6 + 4 + 10 

(d) Make a comparison between complete 

enumeration and sample survey. Briefly 

describe two methods of drawing random 

samples. 10 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) Describe equally likely and mutually 

exclusive events with examples. What is 

meant by exhaustive events ? 8 + 4 

(b) What is a random variable ? Mention the 

properties of probability mass functions 

and probability density functions. 4 + 8  

(c) If A and B are two events, show that  

(i) )()()()()( BPAPBAPAPBAP +≤∪≤≤∩  

(ii) 1)()()( −+=∩ BPAPBAP  6 + 6 

(d) (i) If the coefficient of correlation between 

x and y be 0·8, what will be the 

coefficient of correlation between 

25 += xu  and 43 −= yv  ? 

 (ii) If the equations of two regression lines 

are 523 =+ yx  and 85 =+ yx , what 

will be the value of xyr  ? 6 + 6 
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(e) State Laspeyres' and Paasche's formulae for 

price indices. Examine the consistency of 

these formulae on the basis of Time 

Reversal Test and Factor Reversal Test. 

  6 + 6  

(f) State the conditions of a binomial 

distribution. Derive the variance of this 

distribution. 6 + 6 

3. Answer any four questions  : 6 × 4 = 24 

(a) Give one example for the applicability of 

each of geometric mean, harmonic mean 

and median as measures of central 

tendency. 2 + 2 + 2 

(b) Describe the method of least squares for 

fitting of mathematical curves in 

measurement of trend. 

(c) Fit a straight line trend equation to the 

following time series : 

Year 1980 1981 1982 1983 1984 
Production 

('000 tonnes) 75 83 109 129 134 

 

(d) If the two values of x be 0 and 1 and       

the corresponding relative frequencies be 

3
1  and 

3
2  respectively, determine the 

arithmetic mean and standard deviation    

of x.  

(e) If the AM and GM of two positive quantities 

be 25 and 15 respectively, find their HM. 

(f) Prove that if 
2
1=p , the binomial 

distribution will be symmetrical on both 

sides of its mean. 

(g) Discuss the Type-I and Type-II errors in 

testing of hypotheses. 

(h) Briefly describe different types of bar 

diagrams. 

    


